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Summary of Proposal

• A vehicle is considered to fail if any of the 
following three conditions are satisfied:
1. The vehicle fails the Annex 3 conditions;

2. The vehicle fails the “No worse than today” 
(KBA) check;

3. The vehicle fails both the RPM based method 
and the L_Urban method.



Vehicle 2-03
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Vehicle Passes L_Urban Annex3 (70.4)
Vehicle Passes KBA Check (By Inspection)
Vehicle Fails RPM Check
Vehicle passes L_urban ASEP



Vehicle 1-08
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Gear Vehicle PassesL_Urban Annex 3 (68.1)

Vehicle Passes KBA check (By inspection)
Vehicle Passes RPM ASEP
Vehicle Fails L_Urban ASEP



Vehicle 200-13
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1) Vehicle Fails L_Urban Annex 3 (78.2)
2) Vehicle Fails KBA Check
3) Vehicle Fails RPM Check
4) Vehicle Fails L_urban ASEP

VEHICLE 200-13



Vehicle 200-11

60

70

80

90

100

110

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

SP
L 

[d
B

(A
)]

Normalized Engine Speed at Max BB [%(N-idle)/(S-idle)]

WOT 2. Gear
WOT 3. Gear
WOT 4. Gear
Anchor point
KBA Limit
RPM Boundary
RPM Boundary 3rd

Vehicle Fails L_Urban (77.8)
Vehicle Fails KBA Limit
Vehicle Fails RPM ASEP
Vehicle Passes L_Urban
- But any Legal L_Urban will cause 
L_Urban ASEP to Fail



Conclusion

• Chairman’s proposal was intended as a 
compromise offer to move forward the R51 ASEP 
discussion.
– No party is fully satisfied
– Each part of the ASEP system has strengths and 

weaknesses, but it provides a reasonable result as a 
system.

• System is not perfect – but it is a good start.
• Certainly possible for improvements in the future 

as actual data with new Annex 3 is available.




